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Prompt

Figure K is covered with square tiles each measuring 1 square foot. There
are no gaps or overlaps in the tiles. Figure M is a square with side lengths of
4 feet.

Figure M

Figure K

4 feet

[J = 1 square foot
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Part A

Joan said the area of Figure K is found by adding 3 + 7 4+ 3 + 7, so the
area is 20 square feet. Joan made a mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for Figure K.

Enter your explanation and your answer in the space provided.
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Part B

Figures K and M are pushed together to form a larger figure. There are no
gaps or overlaps of the two figures. To find the area of the larger figure, Andy
multiplied the area of Figure K by the area of Figure M. Andy is incorrect in
his reasoning.

* Explain the steps Andy should take to find the area of the larger figure.
* What is the area, in square feet, of the larger figure?
* Show your work or explain your answers.

Enter your explanation, your answer, and your work or explanation in the
space provided.
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M04_0233-M01161 Rubric-Part A

Score | Description
Student response includes each of the following 2 elements.

e Reasoning component = 1 point

o Valid explanation of Joan’s mistake
e Computation component = 1 point

o Correct area, 21 square feet

2
Sample Student Response:
Joan found the perimeter of the rectangle instead of the area.
The correct area is 21 square feet.
Or other valid response.
1 Student response includes 1 of the 2 elements.

0 The response is incorrect or irrelevant.
M04_0233-M01161 Rubric-Part B

Score | Description
Student response includes each of the following 2 elements:

e Reasoning component = 1 point

o Valid explanation for finding the area

e Computation component = 1 point

o Correct area for combined figure, 37 square feet

2 Sample Student Response:

To find the area Andy should add the area of Figure K to the area
of Figure M because when you combine the areas of two figures
into a larger figure, you are adding the areas to each other, not
multiplying them. So, Andy should add 16 square feet to the area

of Figure K, which is 21 square feet, which would total 37 square
feet.

Or other valid response.
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1 Student response includes 1 of the 2 elements.

0 The response is incorrect or irrelevant.

Al

Part A: Score Point 2
Part B: Score Point 2

PartA

Joan said the area of Figure K is found by adding
347+ 3 + 7, sothe erea is 20 square fest. Joan made a
mistake in har raasoning.

Explain the mistake Joen mede. Find the comrect erea for
Figure K.

\Joan's mistake is that she added the |
|3 = 1 square foot 'wrong numbers. You could add seven
three times or three seven times.

Also, you could multiply 7x3=21 |

Figure K is coverad with square liles eaach measuring 1
square foot. There are no gaps or ovarlaps in the tites,
Figure M is a square with side lengths of 4 feat.

Fgurek  ure M

4 feet

PartB

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multipl.ed the area of Figure K
by the area of Figure M. Andy is incorrectin his reasoning.

» Explain the steps Andy should take to find the area of the
larger figure,

& What is the area, in square faat, of the lerger figure?

» Show your work or axplain your answers.

‘Andy should first find the square feet
of each shape, then add them
together.21 4+ 16 = 37 The area
of the two shapes is 37 square feet.

—
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Annotation

Anchor Paper 1

Part A: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation of Joan’s mistake is provided (added the wrong
numbers . . . add seven three times or three seven times). While the
explanation of the mistake is not discussing perimeter, it does correctly
explain how repeated addition of the squares in each row or in each
column can be used to determine the area. This is a valid strategy to
use to determine area for this figure, and provides a valid explanation
of what mistake was made. In addition, the student notes that Joan
added the wrong numbers, which further clarifies why repeated
addition of either 7 or 3 is appropriate.

e The correct area of Figure K is provided (21). Note that the area does
not have to be labeled as square feet.

Part B: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation for finding the area of the larger figure is
provided (first find the square feet of each shape, then add them
together).

e The correct area for the combined figure is provided (37 square feet).
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A2

Part A: Score Point 2
Part B: Score Point 2

Figure K is coverad with square tiles each measunng 1
square foot. There are no gaps or overaps in the bles
Figure M is a square with side lengths of 4 feat.

Figure M

Figure K

4 feet

|L__| =1 squarafoutl

Part A

Joan said the area of Figure K is found by adding
34743 +7,sothe area is 20 square feet Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the comect area for

Figura K,
'Joan made a mistake because she
only counted the perimeter,and forgot
to count the inside so the answer is

; |21

PartB

Figures K and M are pushed together to form a larger figure.
Thare ara no gaps or avarlaps of tha two figures. To find the
area of the larger figure, Andy mulhplied the area of Figure K
by the araa of Figure M. Andy is incorrect in his reasoning.

» Explmin the steps Andy should take to find the area of the
larger figura.

» What is the ares. in square feet. of the largar figure?

* Show your work or explain your answers.

the answer is 37 because you have to
multiply 4x4 which egauls 16 then add
21 with 16 which egauls 37 and thats
your answer
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Annotation

Anchor Paper 2
Part A: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation of Joan’s mistake is provided (only counted the
perimeter, and forgot to count the inside). Note that when counting
squares to find perimeter, the corners are counted twice since each
side is added, making the explanation true. Also, when counting
squares to find area, all squares are counted once, again making the
explanation true. Finally, simply recognizing that Joan found the
perimeter and not the area is sufficient on its own.

e The correct area of Figure K is provided (21). The label of square feet is
not required.

Part B: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation for finding the area of the larger figure is
provided (you have to multiply 4x4 which equals 16 then add 21 with
16). The calculations for the area of Figure M are provided to identify
Figure M. This area is then added to the area of Figure K, as identified
in Part A.

e The correct area for the combined figure is provided (37). The label of
square feet is not required.
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A3

Part A: Score Point 1
Part B: Score Point 2

Figure K is covered with square tiles each measuring 1 square foot.

There are no gaps or overlaps in the tiles. Figure M is a square with
side lengths of 4 feet

Figure K Figure M

4 feet

O = 1 square foot

Part A

Joan said the area of Figure K is found by adding

3+T+3+T, sotheareais 20 square feet. Joan made a
)

mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for Figure K.

Enter your explanation and your answer in the space provided.

your mistake was that insn't how you
find the area. That is how you find
perimeter. you multiply length times
width to find the area.

Part B

Figures K and M are pushed together to form a larger figure, There are
no gaps or overlaps of the two figures. To find the area of the larger
figure, Andy multiplied the area of Figure K by the area of Figure M.
Andy Is incorrect in his reasoning.

* Explain the steps Andy should take to find the area of the larger
figure.

* Whatis the area, In square feet, of the larger figure?

* Show your work or explain your answers.

Enter your explanation, your answer, and your work or explanation in
the space provided.

first you find out the area of the
square or figure M. Then find out the
area of the rectangle or figure K.
Then add those areas together.

4x4=16
Tx3=21

16 4+ 21 = 37 ftsquare
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Annotation
P —

Anchor Paper 3

Part A: Score Point 1

This response receives partial credit. The response includes one of the two
required elements:

e A correct explanation of Joan’s mistake is provided (that isn’t how you
find the area. That is how you find perimeter).

The area of Figure K is not provided.

Part B: Score Point 2
This response receives full credit. The response includes each of the two
required elements:

e A correct explanation for finding the area of the larger figure is
provided (first you find out the area of the square or figure M. Then
find out the area of the rectangle or figure K. Then add those areas
together). The response the shows the work for this explanation (4 x 4
=16 7x3 =21 16 + 21 =37). Either method is sufficient for credit
for this element.

e The correct area for the combined figure is provided (37 ft square).
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A4

Part A: Score Point 2
Part B: Score Point 1

Figure K is coverad with square tiles sach measunng 1
sguara foot. There are no gaps or overlaps in the tiles.
| Figure Mis a square with side lengths of 4 feet.

! Figure M

Figure K

4 feet
(O = 1 square foot |

Part A

Joan said the area of Figure K is found by edding
34T +3 + 7, sothe area is 20 squere [eet. Joan made a
misteka in har raasoning.

Explain the mistake Joan mads. Find the correct erea for
Figure K

Joan did the perimiter the area is 21

Part B

Figures K and M are pushed tagsther to form a larger figure.

There are ne gaps or overlaps of the two figures. To find the

area of the larger figure, Andy multiplied the area of Figure K
by the area of Figura M. Andy is incorract in his reasoning.

= Explain tha staps Andy should take 1o find the area of the-
larger figure,

= Whatis the area, in square feel, of the larger figure?

# Show your work or explain your answers,

i'rtis 37
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Annotation

Anchor Paper 4

Part A: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation of Joan’s mistake is provided (Joan did the
perimiter).

e The correct area of Figure K is provided (21). The label of square feet is
not required.

Part B: Score Point 1

This response receives partial credit. The response includes one of the two
required elements:

e The correct area for the combined figure is provided (37). The label of
square feet is not required.

No explanation of how to find the area of the larger figure is provided.
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A5

Part A: Score Point 1
Part B: Score Point 1

Figure K is covered with sguare tiles each measunng 1
square foot There are no gaps or overlaps in the tles.
Figure M is a square with side lengths of 4 fast.

Figure M

Figure K

4 feet

[I:I = 1 square foot

Part A

Joan said the area of Figure K is found by adding ‘
3+ 743 +7,sothe area is 20 squars feet Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

29 c38 + - x + B [#

m ¢! ®

SHE said the L

perimeter not the 0,1 jl.2..3

area 40506007
a9t il
w Arithmatic and Units
£ $]|"°

Part B

Figures K and M are pushed together to form a larger figure.
There sre no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figurs K
by the area of Figure M. Andy is incorrect in his reasoning.

# Explain the staps Andy should take to find the area of the
larger figure,

® What s the area, in square feet, of the |arger figura? |

* Show your work or explain your answers. -

en ceE@+ - x + BM |
= i< l>d )2 |
37 = Numbers

DulelalinZ 3

4 5 6 1

g8 9 o .

= Arithmetic and Units

£ 1§ °
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Annotation

Anchor Paper 5

Part A: Score Point 1

This response receives partial credit. The response includes one of the two
required elements:

e A correct explanation of Joan’s mistake is provided (SHE said the
perimeter not the area).

No attempt to show the correct area of Figure K is provided.

Part B: Score Point 1
This response receives partial credit. The response includes one of the two
required elements:

e The correct area for the combined figure is provided (37).

No attempt to explain how to find the area of the larger figure is provided.
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AL

Part A: Score Point 2
Part B: Score Point O

Figure K is covered with square tiles each measuring 1 square foot.
There are no gaps or overlaps in the tiles. Figure M is a square with
side lengths of 4 feet. Joan said the area of Figure K is found by adding

34+7+3 + 7, so the area is 20 square feet. Joan made a

Part A

Figure K Flgure M mistake in her reasoning.
Explain the mistake Joan made. Find the correct area for Figure K.
Enter your explanation and your answer in the space provided.
4 feet

O = 1 square foot 3+ 743+ 7is perimiter to find
area you have to multiply length by
hieght in our case it will be
3 X 7 = 21 so the area for figure k
is 21 square feet

Part B

Figures K and M are pushed together to form a larger figure. There are
no gaps or overaps of the two figures. To find the area of the larger
figure, Andy multiplied the area of Figure K by the area of Figure M.
Andy is Incormrect in his reasoning.

* Explain the steps Andy should take to find the area of the larger
figure.

* What is the area, in square feet, of the larger figure?

* Show your work or explain your answers.

Enter your explanation, your answer, and your work or explanation in
the space provided.

andy needs to do 4 X 4 wich is 16
because the length is 4 ft and the
hieght is 4 ft
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Annotation
P —

Anchor Paper 6

Part A: Score Point 2

This response receives full credit. The response includes each of the two
required elements:

e A correct explanation of Joan’s mistake is provided (3 + 7+ 3 + 7 is
perimiter to find the area you have to multiply length by height). Note
that either identifying that Joan finds the perimeter or that she should
have multiplied length by height would be sufficient on its own.

e The correct area of Figure K is provided (21 square feet).
Part B: Score Point 0
This response receives no credit. The response includes none of the two
required elements:
No explanation for finding the area of the larger figure is provided. Note that
the area and work to find the area of Figure M is provided (4 x 4 = 16), not
the area of the combined figure.

The area for the combined figure is not provided.
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A7

Part A: Score Point 1
Part B: Score Point O

Part A
Figura K is covered with square tiles each measuring 1 .

square fook There are ro gaps or overlaps in tha tiles Joan seid the area of Figure K is found by adding

Figure M is a squars with side lengths of 4 fest 34743 47, sothe area is 20 square feet Joan made a
mistake in her reasoning.

Figure M i
gINEIK Explain the mistake Joan made. Find the corect area for |
Figurs K.

4 feet
[0 = 1 square foot |

the correct area is 21 feet total.

Part B

Figures K and M ara pushed togathar to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the |larger figure, Andy multiplied the area of Figure K
by the araa of Figure M. Andy is incorrect in his reasoning.

# Explain the steps Andy should take to find the area ofthe
larger figure.

* What s the area, in square feet, of the larger figure?

» Show your work or explain your answers.

the steps andy should take first,is it a
'square or not. if it is all the faces are :
the same as the first one.so then ,
‘multiply the number by four then thats
Igou answer.lt is 16sq feet in all

‘because it is a square so

4 x 4 = 16 that is my answer.
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Annotation

S ——
Anchor Paper 7

Part A: Score Point 1
This response receives partial credit. The response includes one of the two
required elements:

e The correct area of Figure K is provided (21). An incorrect label (feet)
is given, but this is not a top score point response so no deduction is
taken for the labeling error.

No attempt to explain Joan’s mistake is provided.

Part B: Score Point O

This response receives no credit. The response includes none of the two
required elements:

No explanation for finding the area of the larger figure is provided. Note that
the area and work to find the area of Figure M is provided (4 x 4 = 16), not

the area of the combined figure.

The area for the combined figure is not provided.
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A8

Part A: Score Point 1
Part B: Score Point O

Figure K is covered with square tiles each measuring 1
square foot. There are no gaps or overlaps in the tiles.
Figure M is a square with side lengths of 4 feet.

Figure K Figure M

4 feet

[0 = 1 square foot

Part A

Joan said the area of Figure K is found by adding
3+ 7434 7,sothe area is 20 square feet. Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

21

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andly is incorrectin his reasoning.
® Explain the steps Andy should take to find the area of the
larger figure.

® What is the area, in square feet, of the larger figure?
® Show your work or explain your answers.

4 x 4 = 16 then 7 x 3 =21

16 square feet. i got this by
multiplying
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Annotation

S ——
Anchor Paper 8

Part A: Score Point 1
This response receives partial credit. The response includes one of the two
required elements:

e The correct area is provided (21).
No attempt to explain Joan’s mistake is provided.
Part B: Score Point O
This response receives no credit. The response includes none of the two
required elements:
The explanation for finding the area is insufficient (4 x 4 = 16 then 7 x 3 =
21). The explanation should indicate that the two areas need to be added

together to find the area of the combined figure.

No attempt to show the area for the combined figure is provided.
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A9

Part A: Score Point O
Part B: Score Point O

J Figure K is covered with square tiles each measunng 1
| square loot There are no gaps or overlaps in the tiles
Figure M is a square with side lengths of 4 fest.

Figure K Figure M

4 feet
|0 = 1 square foot

Part A

Joan said the area of Figure K is found by adding
34743 +17,sothe area is 20 square feet Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for

Figure K.
enesd + - x + 8B
=l >y 2

= Numbers

Her mistake was she

forgot to countthem | 0 1 2 3
so that wouldn't be 45066 ET
her number so it is
wrong. 8L bl
« Arithmatic and Unite
# [ $ °
Part B '

Figures K and M are pushed togsther to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the largar figure, Andy multiplied the area of Figura K
by the area of Figure M. Andy is incorrect in his reasoning.

# Explain the steps Andy should teke to find the aree of the
larger figure.

= Whatis the araa, in square feel. of the larger figura? |

* Show your work or explain your answers.

2N eca + - x + B [H

] el 3 T,

16 +20 = 36 e

\ 0 1Nl d a3
4008 L6 7
B2,
= Anmhmetic end Unite
# 1 % °
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Annotation
P —

Anchor Paper 9

Part A: Score Point O

This response receives no credit. The response includes none of the two
required elements:

The explanation of Joan’s mistake is incorrect (she forgot to count the m).
No attempt to show the correct area of Figure K is provided.

Part B: Score Point O
This response receives no credit. The response includes none of the two
required elements:

The attempt to explain finding the area of the larger figure is unclear (16 +
20 = 36). While the area of Figure M is provided, an incorrect area is
provided for Figure K (20). It is unclear if the student is providing the
perimeter of Figure K instead of the area, and adding the perimeter of one
figure to the area of another is not a valid strategy. Additionally, no
identification of the areas is provided.

The area for the combined figure is incorrect (36).
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Al0

Part A: Score Point O
Part B: Score Point O

Part A

Figure K is covered with square tiles each measuring 1 . . . .
square foot. There are no gaps or overlaps in the tiles. Joanﬁsa|d theharea of F|gur§ K is found by adding
Figure M is a square with side lengths of 4 feet. 3+T+3 +7,sotheareais 20 square feet. Joan made a

. mistake in her reasoning.

Figure K Figure M
9 Explain the mistake Joan made. Find the correct area for
Figure K.
4 feet

You DON'T round! you count the

tiles on the outside and you would get
16. So the answer would be 16
square feet.

[ = 1 square foot

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andy is incorrectin his reasoning.
® Explain the steps Andy should take to find the area of the
larger figure.

® Whatis the area, in square feet, of the larger figure?
® Show your work or explain your answers.

You multiply 11 X 3 = 33. Then you
do1ll+4=15

and you have your answer,15 is the
area of the larger object
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Annotation

e ——
Anchor Paper 10

Part A: Score Point O
This response receives no credit. The response includes none of the two
required elements:

The explanation of Joan’s mistake is incorrect (You DON'T round! you count
the tiles on the outside).

The area provided is incorrect (16).
Part B: Score Point O
This response receives no credit. The response includes none of the two

required elements:

The explanation for finding the area is incorrect (multiply 11 x 3 = 33, 11 +
4 = 15).

The area for the combined figure is incorrect (15).
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Practice Set
P1 - P5

No Annotations Included
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Part A

Figure K is covered with square tiles each measuring 1

square foot. There are no gaps or overlaps in the tiles. Joan said the area of Figure K is found by adding
Figure M is a square with side lengths of 4 feet. 34743 +7,sothe area is 20 square feet. Joan made a
i mistake in her reasoning.
Figure K Figure M . . .
Explain the mistake Joan made. Find the correct area for
Figure K.
4 feet Joan didn't pay attention to the
O = 1 square foot squares he already counted.Also,he
forgot the midile. The correct area is
21.
Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andy is incorrect in his reasoning.

e Explain the steps Andy should take to find the area of the
larger figure.

* Whatisthe area, in square feet, of the larger figure?
® Show your work or explain your answers.

Andy should have found the area of
shape m and ADDED it to the area of
shape k.The area of the shape is 37.
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P2

Figure K is covered with sguare tiles each measuring 1
square foot. There are no gaps or overlaps in the tiles.
Figure Mis a square with side lengths of 4 fest.

Figure M

Figure K

4 feet

[ = 1 square foot

Part A

Joan said the area of Figure K is found by adding
3+ 7+3+7,sothe areais 20 square feet. Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

Joan mistake is the answer is 21
because you can multilpy

3x7=21

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andy is incorrect in his reasoning.
* Explain the steps Andy should take to find the area of the
larger figure.

* What is the area, in square feet, of the larger figure?
* Show your work or explain your answers.

first,Andy did is count counted one
square foot.then,Andy added the
shapes together.After that, ANdy
counted the shapes all
together.Also,the figure that could be
added will be 37 square feet.
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Figure K is covered with square tiles each measuring 1
square foot. There are no gaps or overlaps in the tiles.
Figure M is a sguare with side lengths of 4 feet.

Figure M

Figure K

4 feet

[ = 1 square foot

Part A

Joan said the area of Figure K is found by adding
3+ T7+3 47, sothe areais 20 square fest. Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

Adding the lengths of a figure is how
to get the perimeter. In order to get

the area of a figure is base o
height. Figure K would be 3 X 7 so
the area would be 21 square feet.

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andy is incorrect in his reasoning.
® Explain the steps Andy should take to find the area of the
larger figure.

* Whatis the area, in square feet. of the larger figure?
® Show your work or explain your answers.

First Andy should find out the areas of
the 2 shapes. Then, Andy should add
the 2 areas, 16 + 21 and get 37

square feet. So the area of the larger
figure is 37 square feet.
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P3



Figure K is covered with square tiles each measuring 1
sguare foot. There are no gaps or overlaps in the tiles.
Figure M is a square with side lengths of 4 feet.

Figure K Figure M

4 feet

[ = 1 square foot

Part A

Joan said the area of Figure K is found by adding
3+ 743417, sothe area is 20 square feet. Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

Joan said how to find the primater. To
find the area you have to multiply
length times with. In this problem you
have to multiply 3 times 7 which
equals 21. Thats how you find the
area.

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andy is incorrect in his reasoning.
® Explain the steps Andy should take to find the area of the
larger figure.

* Whatis the area, in square feet, of the larger figure?
® Show yourwork or explain your answers.

Andy should add the areas .
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P4



Figure K is covered with square tiles each measuring 1
sguare foot. There are no gaps or overlaps in the tiles.
Figure M is a square with side lengths of 4 feet.

Figure M

Figure K

4 feet

[ = 1 square foot

Part A

Joan said the area of Figure K is found by adding
3+ 7+3+7,so0the area is 20 square feet Joan made a
mistake in her reasoning.

Explain the mistake Joan made. Find the correct area for
Figure K.

You are not soppost to do three plus
seven plus three plus seven you are

soppostodo 7 X 3

Part B

Figures K and M are pushed together to form a larger figure.
There are no gaps or overlaps of the two figures. To find the
area of the larger figure, Andy multiplied the area of Figure K
by the area of Figure M. Andly is incorrect in his reasoning.
® Explain the steps Andy should take to find the area of the
larger figure.

* What is the area, in square feet, of the larger figure?
® Show your work or explain your answers.

You have to do 4 X 4 then you have
to do 16 plus 21
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Practice Set

Paper Score

P1 1,2
P2 1,1
P3 2,2
P4 2,1

P5 1,1




